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1. Answer as directed : 1x10=10

o o Sed ¢

(@) Management Accounting deals with
both quantitative sand qualitative
information. | ‘
(State whether the statement is True or
False)
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(b) Define Management Accounting.

SAfRpEI Bpieieaed el [l |

(c) ratio is useful for measuring

the short-term liquidity.
(Fill in the blank)

TR ool GRAE _ SEEA®
AT |

), the current ratio. (State whether the
61‘9 statement is True or False)

TG T 49 AW [ FEE TS

(e) What do you mean by cash budget ?
o 49 A6 N 52

() State the meaning of budgetary control.
e e e R
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(9) Contribution is the difference between
the sales and the total cost of sales.

(State whether the statement is True or
False)

SR 2o Rt S {9k 19 79 2731 e #(12f< |
(R3iCEr 5%y ¢ @orey f&73))

(h) What is break-even point ?
SRR TR e
(i)  The difference between actual cost and
standard cost is known as
(@) vériance ’
(b) profit
(c) differential cost

Do\f\an COI’/@ 4 (d) loss
2 ey

(Choose the correct answer)
| /3 e (\L}jj? T I TS I AT 2N Tyl

Pl s \
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| (c) TSR [T |
(d) G (% Cewr Ak Ghe)
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() State the meaning of standard cost. 3. Answer the following questions : (any Sfour)

ox4=20
oeTe il e Ced fral ¢ (R sifaon)

(@) Explain briefly the scope of
Management Accounting.

ARG RbIseaeR #If" b3t it 54|

(b) Describe briefly liquidity ratios used to
measure the liquidity of a firm.

T g 9 554 |

2. Give brief answers to the following
questions : 2x5=10

oS frdl eI 5y Oed Wl ¢

(a) Mention two limitations of standard

costing. 9B ST wTeTel GRG0 2 ) OOl
i <98 oA 75 AREel S w1 | ST 530 q6fl 5 |
: St : s Batety | (c) State the basic characteristics of
(b) Write a brief note on margin o : | marginal costing.
RIS TS e7e 9Bl 53 (B | P SIER T RO o @R < 9 |
(c) Write any two objectives of Management | (d). Explain briefly labour cost variance.
Accounting. A T OO HYCF AT 5 |

ARpIEl RBIseR Reple 75 Sl =i |

Write the distinctions between fixéd
budget and flexible budget.

%WWWWWW
ANLFEE B |

| Write a brief note on comparative
statements.

Wﬁ“ﬁﬁ?ﬁwwvﬁwm
IGEIE

(d) - Mention two objectives of Financial
Statement Analysis.

REy Refe Resmem 75 Somh See w1 |
(e)
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- Answer the following questions

: (any four)
10x4=40

oS frdl epiaiss O s T ¢ (Rewizar 51ty
(@) Explain different tools and techniques

.of Management Accounting in the areas
of decision-making.

FaI% 22eq CFas SiRbEm Roieras Bion

G R PR T <6 |
(b) Write dny five limitations of

Management Accounting. How does
Management Accounting differ from
Cost Accounting ? o+5=10
AR RO1F991 R =ity Smze!
Tl | St a1 REptemeq =11 wifpiem)
2o1oeee R o252

“Marginal‘ costing technique is g
valuable aid to management in tak

()

: in
many managerial decisions.” Explajg
the statement with reference to

man.agerial application ¢
costing.
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The following information of a

company is given below :

9Bl @A SUPTR wee frdl 24 ¢
Current Ratio=2-8

FEICASEIS

Acid-Test Ratio= 15

@fov-siS = Sg7ie

- Working Capital =2 1,62,000

Find out Current Assets, Current

Liabilities and Liquid Assets. 6
iere TG, 5fere @l Sis O A€

é—[ow is the Common: Size

\;{( %3 ,.fé;f:,f’Statement different  from
2 X/ :
%@E\E‘;f Comparative Statement ? 4
AR SRS Te i [y Wi el
"ot #l FEmE 7w
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(e) Following are the information obtained

fron_1 the books of Bajaj India Ltd. -

Bajaj India Ltd. 535} s 1o M ®

CHAIT 275 ¢

Fixed Cost (% ) = 31,60,000
Sales (Re) = 3 100 PEer unit

Variable cost (Vfﬁﬁﬁﬁa‘@ﬂ) =2 90 per unit

Calculate (fefg 41)

(1)

2x5=10
P/V Ratio

P/V Sasiis

(i) Break-even sale.s

SO~ {72 o)

(iti) Break-even units

Profit when sales are 2 20,00,000
20,00,000 5ol Rl @oiw ws
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Month

February
March
April
May

June
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From the following data, prepare a cash
budget for the three months April to

June, 2023 of an organisation :
weTe 3l S AT @bl FEN 2023 5 el
S/l T W2 fo TR I T6M 4 CD

e 4l 8
* Sales[t)  Puchases )  Wages (j) Sundry Expenses )
faee) @G wile) i)
1,20,000 80,000 10,000 7,000
1,30,000 78,000 12,000 9,000
70,000  1,00,000 8,000 5,000
1,16,000 1,03,000 . 10,000 10,000
85,000 80,000 . 8,000 6,000
Further Information :
wfefse o
(i) 10% of sales is realised in the

month of sale and the balance is
realised equally in two subsequent
months.

el 10% FER Tz SiviE = i
IFIRE A< 51 312 T A
2 |

Creditors allow a credit of one
month.

WW@WWW%W|
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(@) 20% of the wages of a month

< w2 7l Fef
51 S mﬁuﬁ HAE 969
remains as arrear which is paid

4l S
! LG GO
in the following month. (= bR
o= Sz iy =

|

|

\

| 4 SR
=S AGRH 20% e Bole 2l Ry | (i) TS

i () F=RTR R

|

; e | te 50 paise per hour
() Sundry expenses are paid in the | Labour ra
' month itself. “ . g 29 10 hours
R <92 T=RITo2 ARy el | Hours per unit
(v)  Income tax % 20,000 ang dividends | 2ifs (alio® I
212,000 are payable in June, | Units produced
TS 20,000 561 Wi wv@1e 12,000 Sesii
05 G e 0T | cAie d
ke
Cash in hand op 1-4-2023 was Yoo wor‘
. ¥40,000. _ | CIRAREE 22,400
1-4-2023 wif{3s o ATO G e | NeiialglaLORERER 2k :
s f-/} 40,000 51| | oS T TT
SR s |
___{g) “From the following information |

regarding a

The standard materials required for
()
calculate —

. . } .

standard pProduct,

' . : Actual materials
(i) labour rate variance o } during the pe;‘lgd(-)o 000 kgs at a cost
i)~ 1aib e : purchased wWEer 3
(i) labour e IClency variance. of £ 1,65,000.
' 4+3+3=10

11 COTIId.
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100 (91f5 Be{ve FR0T 120 keg's SRs AN
e | &f Resars T v 50 #2e) 45
1 29 WIS 2,40,000 (oilp Ao Ao
oA TR ZE| 300,000 kgs 2 AT
@Y € 2 W 29 T 1,65,000 590
Calculate :- 4+3+3=10
fef =1 ¢ :

() Marginal cost variance

(i) Material price variance -

ANEN Ve ST

(i) - Material usage variance

N AR (FREe) ey
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